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1 | FEFETAE | BRFN23EER TS (15 0.74| 21,600/
® BEFN25F BT 4 (178 0.74| 25,600
2 | BT | ER6FERTS (282 LDK) 0.89| 87,1004
SRk 6 FEER TSy (283 LDK) 0.89 | 100, 000
FrRE6EEE T (13 LDK) 0.89 | 100, 000
VR TEESRT S (22 LDK) 0.89| 89,000
TR 7EER TS (173 LDK) 0.89| 102, 100F
3 |y BfEE | BBFI6SEERTH 18 (2DK - 1~3MER| 0.86| 56, 900
43)
WEFIG3EEER T 14K (2DK - 4 BEER4) 0.83| 56,900/
PAFNG3EEEHR T4y 14 (3DK - 1~3WER| 0.86| 60,400
) 43)
PEFNG34EREER T4y 14 (3DK + 4 FEE4AY) 0.83| 60,400
WRTTEES Ty 288 (1~ 3RS 0.86| 64,400
RTEER TSy 28 (4 B 0.83| 64,400
SRR 2 T4y 3B (1~ 3 PEERSY) 0.86| 62,900
ERL 2 EEDRT Sy 3HR (4 WEH4) 0.83| 62,900
YRR 3EER T 5 41K 0.86| 69,300
Rk 4 SRR T 5y 5K 0.86| 80,300
4 | \KfEE | IBFS4EERT S (BRYE) 0.85| 38,500
IEFNb4FEER Ty (WEH) 0.86| 38,500/
5 |EUHEE | BEFB0EERTS (27 0.67{ 20,600




HEFI31IFESE Tsr (258 0.67| 19,400/

6 | HITIEDE | ERIGEEZL TS (2DK) 0.91| 67,1004
= SERRIGEESE TS (2DK EAD ) 0.91| 71,800
FRISEESL TS (3DK) 0.91| 84, 000
TERLIGEERT S (3DK G ) 0.91| 88,700

7 | THUEEE | BRREER TS (11 0.79| 29,400/
HEFN32E BTy (27H) 0.79 | 23,4000

8 | LA B | BBFI33EE® TS (1) 0.71 24,0000
£ FEFN33RER Ty (270 0.71| 19, 700H
BEFI4EER Ty (1 F0) 0.71}{ 24,100
BEFI3sEEEE T 4y (1 7E) 0.71| 24,700/
RAFISSEEEE T 5y (27E) 0.71| 19, 300/
IRFI3THRES T Sy (2F) 0.71| 20,400H

9 | REMEE | FRIEERTS (2DK) 0.84| 97,300/
ERR10EESR TS (2DK (FEHF) ) 0.84| 111,200
FRI0FEE%E TSy (3DK) 0.84 | 111, 200
VRRIEES T (2DK) 0.84 | 100, 500
PREIIEEST S (3DK) 0.84| 114,800

10 | BEFHEE | BEGFEERTS 18 (1~ 3MEED) 0.88| 23,300H
WEFR4SEEEEAT 4y 11 (4~ 5[EH4) 0.85{ 23,300
WEFI4BEEEE T4 248 (1 ~ 3ER) 0.88| 26, 100F
FEFIABEEEEAE T 4y 218 (4 WEERSY) 0.85] 26,100/

11| \iEEzE | EfsIEER TS 2DK 0.89| 51,4008
BEFISI4EE BTy 3 DK 0.89| 63,9004

BB EEETH4DK 0.89| 77,200M

12 | BEE | ERTEEZRTHREH (3DK—b) 0.84| 93,100
ER2TEER T HRE (2DK) 0.84| 177, 100M

ER2TEER TR (2DKE) 0.84| 77, 300H

WR2TEERT AR (2DK (ERHF) ) 0.84| 92,400

SERR2TREERT AR (3DK—a) 0.84| 92,200M
WR2TEERT A0 (1 DK) 0.84| 62,400
FRR2TFERETHALER (2DK) 0.84| 77,100/
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FR2TEEZRTHA (3DK—b) 0.84| 93,100M
ER2TEER T (3 LDK) 0.84| 108, 000H
13| WWTEE |sf2FEERTH9E (1DK—A) 0.85| 79, 200H
T2 EFERTHIR (2DK—1) 0.85| 85,900/
SF2EER T (2DK—2) 0.85| 85, 800M
SN2 FERT A (2DKE1L) 0.85| 85,900
T 2EERTHILE (2DKE?2) 0.85| 85,800
G2 FERTHEM (1DK—B1) 0.85| 69,000
o0 2 FERTAHEEM (1DK—B 2) 0.85| 68,900
T2 EERETHEME (2DKE) 0.85| 105,600
T2 REERETHRER (2DKES) 0.85| 105, 600/
L2 EEET AR (3DK—1) 0.85| 104, 100
S 2EERTHEH (3DK—2) 0.85| 104, 000
S 2 EERETHTER (3DKHE) 0.85 | 104, 000




